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(0~160) MPa
(0~100) MPa
(0~60) MPa
(0~40) MPa
(0~25) MPa
(0~16) MPa
(0~10) MPa
(0~6) MPa
(0~4) MPa
(0~2.5) MPa
(0~1.6) MPa
(0~1) MPa
(0~600) kPa
(0~400) kPa
(0~250) kPa
(0~160) kPa
(0~100) kPa
(0~60) kPa
(0~40) kPa
(0~25) kPa
(0~16) kPa
(-100~0) kPa
(-0.1~25) MPa
(-0.1~16) MPa
(-0.1~10) MPa
(-0.1~6) MPa
(-0.1~4) MPa
(-0.1~2.5) MPa
(-0.1~1.6) MPa
(-0.1~1) MPa
(-100~600) kPa
(-100~400) kPa
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(-

)
)
)
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0.01/0.02/0.05
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® B ARIEHR

ZENECE HEREFR B RIFES BARE
£500 Pa 0.05 = 30x
(0~1) kPa 0.05 5 30x
+1kPa 0.05 = 50x
(0~2.5) kPa 0.01/0.02/0.05 = 50x
+2.5kPa 0.01/0.02/0.05 = 20x
(0~5) kPa 0.01/0.02/0.05 = 20x 60kPa
*5kPa 0.01/0.02/0.05 = 10x
(0~10) kPa 0.01/0.02/0.05 5 10x
+10 kPa 0.02/0.05 = 5x
(0~16) kPa 0.01/0.02/0.05 5 5x
+16 kPa 0.01/0.02/0.05 = 3x
(0~25) kPa 0.01/0.02/0.05 = 3x
+25kPa 0.01/0.02/0.05 = 3x
(0~40) kPa 0.01/0.02/0.05 5 3x 300 kPa
+40 kPa 0.01/0.02/0.05 = 3x
(0~60) kPa 0.01/0.02/0.05 5 3x
+60 kPa 0.01/0.02/0.05 = 3x
RENECE HREER R RIFES
(0~40) kPa.a 0.01/0.02/0.05 5 400 kPa (10xFS)
(0~100) kPa.a 0.01/0.02/0.05 5 400 kPa (4xFS)
(0~250) kPa.a 0.01/0.02/0.05 = 1 MPa (4xFS)
(0~400) kPa.a 0.01/0.02/0.05 5 2 MPa (5xFS)
(0~700) kPa.a 0.01/0.02/0.05 5 2 MPa (3xFS)
(0~1) MPa 0.01/0.02/0.05 = 2 MPa (2xFS)
(0~2.5) MPa 0.01/0.02/0.05 SR 25 MPa (10xFS)
(0~7) MPa 0.01/0.02/0.05 [/R 25 MPa (3xFS)
(0~10) MPa 0.01/0.02/0.05 S/ 25 MPa (2.5xFS)
(0~25) MPa 0.01/0.02/0.05 5 /& 90 MPa (3xFS)
(0~40) MPa 0.01/0.02/0.05 ]/R 90 MPa (2.5xFS)
(0~70) MPa 0.01/0.02/0.05 SR 90 MPa (1.2xFS)
(0~100) MPa 0.01/0.02/0.05 5/#& 110 MPa (1.1xFS)
(0~120) kPa.a 0.01/0.02/0.05 SR 3x
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